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Li (7-points) Find a nonsingular matrix P such that P~ [ 3 ___2 ji P is a diagonal

matrix.
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(4-points) Given that A = Ao = 1 and A3 = 2 are the eigenvalues of the matrix

G

-2 4 -1

_3 5 —1 |. Determine whether or not A is diagonalizable.
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3. (4-points) Use Cayley-Hamilton Theorem to find A%, where A = \: 250 0 2 jl .

—-100 2 0
(No other method of finding A? will be accepted).
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1. (7-points) Find a nonsingular matrix P such that P iy [ -7 =5

} P is a di-
agonal matrix.
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® 2. (4-points) Given that A = X =2 and \; = 1 are the eigenvalues of the matrix

3 -2 1
\‘ } . Determine whether or not A is diagonalizable.
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3. (4-points) Use Cayley-Hamilton Theorem to find A%, where A 100 0 3 |.
-300 3 0
(No other method of finding A°® will be accepted).
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